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1Effi: Wealthy parents should not spoil their children. Otherwise, their children will become
too dependem on them.

- HERAESOR B IS = AFR. ISR — AFR RS AR &l ek 2 & Mk,
FﬁLM“BZE'F'TE KEfEH . REMASE AR, S4B aFEREENES, HHEE
fERFEIBER T, we, you.
fiix: If you do not pay attention to environmental problems, you would suffer huge loss
sooner or later.
1E4ff . If environmental problems are not given enough attention to, the whole human race
would suffer huge loss sooner or later.

3. mERMEHAEEA D EAENE, REMEA S, fEEESOURER K, rE
(EATEBOE R Bl . 2P sifE o, AN EE SRR, BliEh
RO . ) an, o S & i o] %044 8, AT LA A] a great/ vast/ considerable/ huge
number of, numerous, a host of Z{{#; many, a lot of ; Q&M A n] %45 ia], vl LA{EFH
a great deal of, a considerable amount of %

5. Today newspapers report lots of crimes in horrible detail.
E4fj: Today newspapers report a considerable number of crimes in horrible detail.

IEASCAR AR — AL -
®  fili AN A T A i 20
A primary education system was set up throughout Ireland as early as 1831.

— A primary education system was established throughout Ireland as early as 1831.
® fdiHJ%)ﬁi;iJi{%ZS

F#hiE4A . In my essay [ will discuss the role of the ombudsman.

#EEhi ltk In this essay, the role of the ombudsman will be discussed.

® fliJf] “the essay” fEEif

In this essay, I will consider the question of immigration control.

— This essay will consider the question of immigration control.

4. BERIERIEPIGIRG . EHER
CRIEMH] . MEEFKERKA LK, HH

i, FeRRAPFE AT A2
— BT R PSS, B A al L

CIP=RTa VA S50
American English British English

color colour

-0r Vs -our . . . .
favorite favourite
urbanize urbanise

-ze VS -se . . . -
industrialize industrialise

1 vs -l fulfill fulfil

s skillful skilful
center centre

wer Vs e theater theatre
defense defence

-ense vs -ence . .
license licence

. li uarrellin

-ling vs -lling quiarre 8 q ; g

traveling travelling




1% : The impact of tourism on these traditional neighborhoods must be analysed.
1E4f: The impact of tourism on these traditional neighbourhoods must be analysed.
The impact of tourism on these traditional neighborhoods must be analyzed
5. "L'F“'tﬁ:ﬁﬁ‘hlf(fﬁﬁﬁm. S G () 55 RIS FE SRRSO S fE T, [a]
LSS E S

F51% . What can we do to solve this problem?
\Efff): There are many measures one can take to solve this problem, and some of them
deserve immediate attention.

6. ik G ik A R B R R A ) o (RN 2 8 Tl 87 SR ) RO 510 4, (R
X P ) A AS 21 2 AR Y 43 BX Em A AR BUER IR E S RE S, MR ARRER
MRS 1. BRSO, BN B AR RS S R kA, K
TR A SCRE A AL . RS A SO S T AT B D, N B I D 4 B A 4B
) FEIFRE G A WER— AR A P ED, AT AR G 3 73 WA ) i ok 2 ik

PA LR THERD A R VER 00 ) B0 S 3R, A 4545 M Task 2 JFbh,
ST A KEEMEEFE S SR, AUZEN Task 2 ff i /K. A
TR, BRI Task 2 (95 E L Task | 5 fil 4 i M S Wiz 98 05 SR AT 45 10 ik 0 45
BREI. fE Task 2 (& F LB, BAEKEIR2H,. FENSHERST, HITRE.
SERM GRS, i#/{\u{f%’i&‘ EM IS VEAE SRR BIGE T A 4y, EaAEE

A JE TESETE F W bt — 027 ) SR B AT R HL IS i Bl

PRACTICE 1

Please improve the following sentences in formal writing.

Let’s solve this problem together!

The advantage of space research is more than its disadvantage.

W o -

Our world is becoming more and more reliant on modern technology.

The environment is becoming worse. We must work together to deal with this situation.
So, we should make sure that globalization does not harm our own traditional culture!
I would like to discuss the advantages and disadvantages of advertising.

Lots of rivers and lakes have been severely polluted.

This will cut down the amount of drug required and so the cost of treatment.

° o N oo &

The press reflected the living culture of the people; it could influence opinion and
reinforce existing attitudes but it did not come up with new forms of entertainment.

10. Dieters often feel that they should totally get rid of high-fat and high-sugar foods.

11. I have divided my report into five sections.

12. You can apply the same theory of learning to small children.

13. In the second section of the report, we will consider the environmental consequences.
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14.

15.

In this essay, T will discuss the main differences between the English and Scottish legal
systems.
Modern houses have so many labor-saving things that it is difficult for the person at

home to have adequate exercise by doing chores, cooking, and looking after a family.

PRACTICE 2

Combine each pair of the sentences into one sentence which includes a restrictive attributive clause.

. The exhibition was not very interesting. My friend took me to see it.

One of the chief things is to save money, manpower and time. A computer can do this

thing.

3. Immigration is an issue. This issue raises strong emotions.

4. The boy was not badly hurt. The boy fell from a tree.

S. The employees had to retire. The employees had reached the age of sixty-five.

6. The dog belongs to Mr. Malone. The dog barked at you.

7. The headmaster spoke to the boys. Their work was below standard.

8. Here is the address. You should write to this address.

9. I can’t remember the name of the person. I gave the money to him.

10. They came from a plateau. Around the plateau stood a circle of high mountains.

11. The teacher said that two of the pupils had suddenly disappeared. He was responsible for
them.

12. The garage is very expensive. The managers of the company park their cars there.

13. I forget the time. We will gather at this time.

14. The language teachers’ association provides a medium. Through the medium ideas can
be shared and discussed.

15. The writers are all French. He quotes from their works.

16. He told me the story. You told me the same story in your house.

17. The reason is not very convincing. He came for this reason.

18. The papers must be locked up. They contain important information.

19. I can’t lend you this pen. I have only this pen.

20. The method is a secret. We made this by the method.

PRACTICE 3

Please fill in the blanks with appropriate forms of the verbs given.

(8]

()

. Most of the people ~ (invite) to the party didn’t turn up because of the heavy

rain.
(walk) along the street, I found many of the shops crowded with people.

. With so many friends (support) us, we are sure (finish) the



work ahead of time.

(give) another chance, I'll do it much better.

5. When (heat) , ice can be changed into water.
6. —Who is the man (talk) to our headmaster?
—A professor (pay) a visit to school from Beijing University.
7. The old scientist left all of a sudden, (leave) the project unfinished.

(admit) what she has achieved, I still think she has a long way to go.

PRACTICE 4

Please correct the following sentences. There is only one mistake in each sentence.

The students, tiring after the trip, fell asleep soon after they came back to their camp.
Stepped carelessly along the street, he was knocked down by a bike.

He told us that the present situation was encouraged.

:P-LNN-

If you had gone there to see the match, I'm sure you would have enjoyed seeing the
Chinese Football Team winning.

All of us are surprised to have learned that you are planning leaving school next term.
The teacher advised us to devote more time to read English every day.

Some of the money was sent supporting those children who had been out of school.

That’s really kind for you to help me carry the luggage upstairs.

Having not plenty of time, we decided to take a taxi to the station.

10. He was always the first entering the dinner-room and the last to leave it.

PRACTICE 5

Please combine each pair of the sentences into one sentence according to the clues in brackets.

I. The rules were introduced. The rules increased congestion immediately. ( Use verb +
ing)

2. The government plans to help poorer countries. It plans to cancel all Third World debt.
(Remove the repetition and use by)

3. Government officials have constantly been denying charges of corruption. The
government officials have secretly been accepting bribes from businessmen and lobbyists
alike. (Use while and verb +ing)

4. The destruction of historic buildings for whatever reasons is repellent to many people. It is
a crime against humanity. (Use verb + ing)

5. Charges for entering city centres will be introduced shortly. The charges will raise the cost

of motoring. (Use verb + ing)

6. The local authority is knocking down old tower blocks. The local authority wants to

improve the area. ( Remove the repetition and use by)
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7.

The project is opposed by both big companies and government departments. The project
aims to regenerate all slum areas in the next decade. (Remove the repetition and use the

Non-finite verb)

. The fares have risen substantially over recent years. The fares put people off public

transport. ( Remove the repetition and use verb + ing)
Companies need to play on their strengths. Companies need to put more effort into
successful areas. Companies need to reduce investment in failing ventures. ( Remove the
repetition, use verb + ing and while + verb + ing)

The government could force through the construction of cheap houses for essential
workers. It could purchase all the brown-field sites in major cities. ( Use by + verb +

ing or by + noun)

. The government plans to extend a proposed renewable energy scheme. This plan may

upset environmentalists. The environmentalists claim that larger projects damage eco-

systems and threaten wildlife. ( Remove the repetition, use a relative clause with who)

PRACTICE 6

Please combine each pair of the sentences into one sentence.

(8]

. The drop-in centre offers counseling. The drop-in centre is supported by the local church.

The drop-in centre is a testament to the government’s weakness. The church is outdoing it
in providing contraception.

The government is expected to face stiff opposition to its proposal. It proposes to ban
smoking in all public places.

The licenses to provide the rail service are intended to help rail companies to secure
financial backing. The rail companies will improve punctuality and the standard of
service.

The government has refused to accept responsibility. The government is trying to smooth
things out behind the scenes.

Charges for entering all museums and art galleries will soon be dropped. This will
hopefully lead to an increase in visitor numbers.

The report stated that hospitals should tighten up their appointment procedures. This is a
proposal that is strongly supported by patients and medics.

Some people think that pollution will be reduced. They think recycling materials like

bottles and paper will help.
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IELTS Writing band descriptors ( Public version)

Zé—. Task 2

Band

Task Response

Coherence and Cohesion

Lexical Resource

Grammatical Range
and Accuracy

& fully addresses all
parts of the task

@ presents a fully de-
veloped position in an-
swer to the question
with relevant, fully ex-
tended and well sup-
ported ideas

@ uses cohesion in such
a way that it attracts
no attention

@ skillfully manages pa-
ragraphing

@ uses a wide range of
vocabulary with very na-
tural and sophisticated
control of lexical fea-
tures; rare mMinor errors
occur only as “slips”

¢ uses a wide range
of structures with full
flexibility and accura-
Cy; rare minor errors
occur only as “slips”

& sufficiently addres-
ses all parts of the task
@ presents a well-de-
veloped response to the
question with relevant,
extended and suppor-
ted ideas

€ sequences informa-
tion and ideas logically
€ manages all aspects
of cohesion well

€ uses paragraphing
sufficiently and appro-
priately

@ uses a wide range of vo-
cabulary fluently and flexi-
bly to convey precise mea-
nings

@ skillfully uses uncom-
mon lexical items but there
may be occasional inaccu-
racies in  word choice
and collocation

@ produces rare errors in
spelling and/or word for-
mation

€ uses a wide range
of structures

@ the majority of sen-
tences are error free

€ makes only very
occasional errors or in-

appropriacies
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5% (F)

k.

Band

Task Response

Coherence and Cohesion

Lexical Resource

Grammatical Range
and Accuracy

@ addresses all parts
of the task

@ presents a clear posi-
tion throughout the re-
sponse

€ presents, extends
and supports main i-
deas, but there may be
a tendency
generalise and/or sup-

o over-

porting ideas may lack
focus

L 2
information and

logically organizes
ideas;
there is clear progression
throughout

€ uses a range of cohe-
sive devices appropriate-
ly although there may be
some under-/over-use

@ presents a clear central
topic within each para-
graph

@ uses a sufficient range
of vocabulary
some flexibility and preci-

to allow

sion

@ uses less common lexi-
cal items with some aware-
ness of style and colloca-
tion

€ may produce occasio-
nal errors in word choice,
spelling and/or word for-
mation

@ uses a varety of
complex structures

€ produces frequent
error-free sentences

@ has good control of
grammar and punctua-
tion but may make a
few errors

@ addresses all parts
task although
may be
more fully covered than

of the

some  parts

others

€ presents a relevant
the
may be-

position although
conclusions
come unclear or repeti-

tive

¢ presents relevant
main ideas but some
may be inadequately

developed/ unclear

4 arranges information
and ideas coherently and
there is a clear overall
progression

@ uses cohesive devices
effectively, but cohesion
within and/or between
sentences may be faulty
or mechanical

4 may not always use

referencing clearly or
appropriately ;
€ uses paragraphing,

but not always logically

€ uses an adequate range
of vocabulary for the task
€ attempts to use less
common vocabulary but
with some inaccuracy

€ makes some errors in
spelling and/or word for-
mation, but they do not
impede communication

€ uses a mix of sim-
ple and complex sen-
tence forms

@ makes some errors
in grammar and punc-
tuation but they rarely
reduce communication

€ addresses the task
only partially; the for-
mat may be inapprop-
riate in places

€ cxpresses a position
but the development is
not always clear and
there may be no con-
clusions drawn

4 presents some main
ideas but these are li-
mited and suffi-
ciently developed; there
may be irrelevant detail

not

€ presents information
with some organization
but there may be a lack
of overall progression

€ makes inadequate,
inaccurate or over-use of
cohesive devices

€ may be repetitive be-
cause of lack of referen-
cing and substitution

4 may not write in pa-
ragraphs, or
phing may be inadequate

paragra-

@ uses a limited range of
but this
minimally adequate for
the task

€ may make noticeable
errors in spelling and/or

vocabulary , is

word formation that may
cause some difficulty for
the reader

4 uses only a limited
range of structures

€ attempts complex
but
tend to be less accu-

sentences these
rate than simple sen-
tences

4 may make frequent
grammatical errors and
punctuation may be
faulty; errors can cause
some difficulty for the

reader




g%

Grammatical Range

Band Task Response Coherence and Cohesion Lexical Resource
and Accuracy

4 | ® responds to the task | ¢ presents information| € uses only basic voca-| € uses only a very
only in a minimal way and ideas but these are|bulary which may be used|limited range of struc-
or the answer is tan- | not arranged coherently repetitively or which may |tures with only rare
gential ; the format may |and there is no clear pro- |be inappropriate for the|use of subordinate
be inappropriate gression in the response |task clauses
@ presents a position| € uses some basic co- | 4 has limited control of | € some structures are
but this is unclear hesive devices but these | word formation and/or|accurate but errors pre-
€ presents some main|may be inaccurate or re- |spelling; errors may cause|dominate, and punc-
ideas but these are dif- | petitive strain for the reader tuation is often faulty
ficult to identify and| € may not write in pa-
may be repetitive, ir-|ragraphs or their use may
relevant or not well | be confusing
supported

3 | # does not adequately | @ does not organize 4 uses only a very limi-| € attempts sentence
address any part of the |ideas logically ted range of words and|forms but errors in
task € may use a very limi-|expressions with  very|grammar and punctua-
4 does not express a|ted range of cohesive|limited control of word|tion predominate and
clear position devices, and those used|formation and/or spelling |distort the meaning
@ presents few ideas, |may not indicate a logi- | € errors may severely
which are largely unde- |cal relationship between |distort the message
veloped or irrelevant ideas

2 | # barely responds to| 4 has very little control | € uses an extremely li-| 4 cannot use sentence
the task of organizational features |'mited range of vocabula-| forms except in me-
€ does not express a ry; essentially no control |morized phrases
position of word formation and/or
4 may attempt to spelling
present one or two i-
deas but there is no de-
velopment

1 | ® answer is complete- | ® fails to communicate | 4 can only use a few i-| € cannot use sen-
ly unrelated to the task |any message solated words tence forms at all

0 | 4 does not attend

@ does not attempt the task in any way

@ writes a totally memorized response
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